

## Comment on the deformation of quantum mechanics

This article has been downloaded from IOPscience. Please scroll down to see the full text article.

1994 J. Phys. A: Math. Gen. 27 5037

(<http://iopscience.iop.org/0305-4470/27/14/029>)

View [the table of contents for this issue](#), or go to the [journal homepage](#) for more

Download details:

IP Address: 171.66.16.68

The article was downloaded on 01/06/2010 at 21:47

Please note that [terms and conditions apply](#).

COMMENT

Comment on the deformation of quantum mechanics

Ki-Soo Chung and Won-Sang Chung

Theory Group, Department of Physics, College of Natural Sciences, Gyeongsang National University, Jinju 660-701, Korea

Received 14 March 1994

**Abstract.** In this comment we point out a serious mistake in a recent paper by Li and Sheng and present the correct version for the  $q$ -deformed quantum mechanics.

Recently Li and Sheng [1] presented the one-dimensional  $q$ -deformed Schrödinger equation for the real deformation parameter  $q$ . In this comment we point out a serious mistake in [1]. Moreover we recommend the correct way to obtain the  $q$ -deformed Schrödinger equation by using the generalized deformed algebra [2] presented by us.

In [2] we considered the generalized deformed algebra

$$aa^+ - qa^+a = q^{\alpha N + \beta} \tag{1}$$

where we restricted the analysis to the case of  $\beta = 0$  and  $\alpha \neq 1$ . Then the relation between the number operator and mode operator is given by the generalized deformed  $q$ -number

$$a^+a = [N] = \frac{q^{\alpha N} - q^N}{q^\alpha - q} \tag{2}$$

The new  $q$ -derivative is defined as

$$Df(x) = \frac{f(q^\alpha x) - f(qx)}{x(q^\alpha - q)} \tag{3}$$

which satisfies the following deformed Leibniz rule

$$\begin{aligned} D(f(x)g(x)) &= f(q^\alpha x)Dg(x) + Df(x)g(qx) \\ &= Df(x)g(q^\alpha x) + f(qx)Dg(x). \end{aligned} \tag{4}$$

Letting  $f(x) = x$  in equation (4) leads to

$$\begin{aligned} Dx - q^\alpha xD &= \hat{q} \\ Dx - qx D &= \hat{q}^\alpha \end{aligned} \tag{5}$$

where  $\hat{q}$  is defined as

$$\hat{q}f(x) = f(qx). \tag{6}$$

Similarly, we obtain

$$\hat{q}D = q^{-1}D\hat{q}. \tag{7}$$

Then the  $q$ -integral is easily defined as

$$\begin{aligned} \int_0^x f(x)Dx &= (q^\alpha - q) \sum_{n=0}^{\infty} q^{(1-\alpha)n-\alpha} x f(q^{(1-\alpha)n-\alpha} x) \\ \int_0^\infty f(x)Dx &= (q^\alpha - q) \sum_{n=-\infty}^{\infty} q^{(1-\alpha)n-\alpha} f(q^{(1-\alpha)n-\alpha} x) \end{aligned} \tag{8}$$

$$\int_{-\infty}^{\infty} f(x) D x = (q^{\alpha} - q) \sum_{n=-\infty}^{\infty} q^{(1-\alpha)n-\alpha} f(q^{(1-\alpha)n-\alpha}) - (q^{\alpha} - q) \sum_{n=-\infty}^{\infty} q^{(1-\alpha)n-\alpha} f(-q^{(1-\alpha)n-\alpha}). \quad (9)$$

Then the  $q$ -integral satisfies the following properties†

$$\int_{-\infty}^{\infty} f(x) D x = \int_{-\infty}^{\infty} q^{(1-\alpha)l} \hat{q}^{(1-\alpha)l} f(x) D x \quad \text{for any integer } l. \quad (10)$$

From the fact that

$$\int_{-\infty}^{\infty} D(\Psi^*(x)\Phi(x)) D x = 0 \quad (11)$$

where  $\Phi(x)$  denotes a wavefunction and  $\Psi^*(x)$  denotes a complex conjugate of the wavefunction  $\Psi(x)$ , we have

$$\int_{-\infty}^{\infty} D\Psi^* \hat{q} \Phi D x = - \int_{-\infty}^{\infty} (\hat{q}^{\alpha} \Psi^*) D \Phi D x. \quad (12)$$

Using the property (10), equation (12) reduces to

$$q^{(1-\alpha)l} \int_{-\infty}^{\infty} (\hat{q}^{(1-\alpha)l} D\Psi^*) \hat{q}^{(1-\alpha)l+1} \Psi D x = -q^{(1-\alpha)l'} \int_{-\infty}^{\infty} (\hat{q}^{(1-\alpha)l'+\alpha} \Psi^*) (\hat{q}^{(1-\alpha)l'} D\Psi) D x \quad (\text{for any integer } l, l'). \quad (13)$$

In order for equation (13) to give the Hermitian relation of  $q$ -derivative  $D$ , it should satisfy the following conditions;

$$\begin{aligned} (1-\alpha)l + 1 &= 0 \\ (1-\alpha)l' + \alpha &= 0. \end{aligned} \quad (14)$$

Solving the above two equations, we have

$$\alpha = \frac{l+1}{l} = \frac{l'}{l'-1} \quad (15)$$

which gives the relation between  $l$  and  $l'$ :

$$l' = l + 1.$$

The allowed values of  $\alpha$  are given by the following string‡,

$$\alpha = \frac{p+1}{p} \quad (p \neq 0 \text{ integer}).$$

For the special case of  $\alpha$  an integer, we have two solutions:

$$\alpha = 2, l = 1, l' = 2 \quad \text{and} \quad \alpha = 0, l = -1, l' = 0. \quad (16)$$

For allowed  $\alpha$ 's, we have the following relation:

$$(q^{(1-\alpha)l} \hat{q}^{(1-\alpha)l} D)^+ = -q^{(1-\alpha)l'} \hat{q}^{(1-\alpha)l'} D. \quad (17)$$

Using the fact that

$$\hat{q}^+ = q^{-1} \hat{q}^{-1} \quad (18)$$

† In [1], the authors adopted  $\alpha = -1$  and insisted that  $\int_{-\infty}^{\infty} f(x) D x = \int_{-\infty}^{\infty} q^l \hat{q}^l f(x) D x$  hold. However, equation (9) indicates that the above formula leads to a serious contradiction.

‡  $\alpha = -1$  is not included in this string.

we obtain

$$D^+ = -q^{-\alpha-1} \hat{q}^{-\alpha-1} D. \tag{19}$$

Then we obtain the Hermitian momentum operator:

$$P = i\hat{q}^{-(\alpha+1)/2} D. \tag{20}$$

We can easily check that

$$P^+ = P. \tag{21}$$

Therefore, the correct  $q$ -deformed Schrödinger equation is given by

$$-\frac{1}{2m} \hat{q}^{-(\alpha+1)/2} D \hat{q}^{-(\alpha+1)/2} D \Psi(x) + \frac{(\alpha+1)}{2} kx^2 \Psi(x) = E_q \Psi(x) \tag{22}$$

where  $E_q$  denotes a  $q$ -deformed energy eigenvalue.

In this comment we pointed out a serious mistake in [1] and recommended the correct  $q$ -deformed one-dimensional Schrödinger equation.

This research was supported in part by KOSEF under contract no 91-08-00-05, in part by Non Directed Research Fund, Korea Research Foundation, 1993, and in part by Basic Science Research Program, Ministry of Education, 1994 (BSRI-94-2413).

**References**

[1] Li Y and Sheng Z 1992 *J. Phys. A: Math. Gen.* **25** 6779  
 [2] Chung W, Chung K, Nam S and Um C 1993 *Phys. Lett.* **183A** 363